
O
ri

g
in

al
 F

G
 E

rs
at

z-
 u

nd
 T

un
in

g
te

ile
  

 O
ri

g
in

al
 F

G
 E

rs
at

z-
 u

nd
 T

un
in

g

A.10639-090807

FG Modellsport-Vertriebs-GmbH
Spanningerstr. 2
73650 Winterbach-Germany
Phone: +49 7181 9677-0
Fax: +49 7181 9677-20
info@fg-modellsport.de 
www.fg-modellsport.de

Secure all metric screws with screw retention lacquer. Mount all parts as shown on the pictures.
Make sure the rotating parts can be easily moved. Deflexion, shock absorbers, wishbone fixings a.
s. o. can be used from the previous gear unit.

Mounting instruction for
Item N°. 10639 Gearwheel drive f. F1 Competition, set

Spare parts
04405/01 Ball bearing 8/16x6, 2 pcs.
06036/05 FG ball bearing 10x19x7 w. grease fill., 2 pcs.
06038 Engine fixing disks, 4 pcs.
06047 Gearwheel 15 teeth, 1 pce.
06048 Gearwheel 48 teeth, 1 pce.
07052 Plastic gearwheel 42t., 1 pce.
07431 Steel gearwheel 22t. hardened, 1 pce.
07439/05 Alloy gear carrier 52 mm spec., 1 pce.
10456/01 Alloy engine flange F1 new, 1 pce.
10640 Alloy rear axle carrier left F1 Comp., 1 pce.
10641 Alloy rear axle carrier right F1 Comp., 1 pce.
10642 Alloy differential bearing left, 1 pce.
10643 Alloy differential bearing right, 1 pce.
10645 Alloy cross bracing rear, 1 pce.
10650 Alloy bearing bush, 1 pce.
10651 Distance bush 13x10x35, 1 pce.
10652 Gearshaft f. gearwheel drive, 1 pce.
10653 Alloy gear flange F1 new, 1 pce.
10654 Alloy engine mount, 1 pce.
10655 Gearwheel 38 teeth, 1 pce.
10656 Bearing shaft f. gearwheel 38 teeth, 1 pce.
10657 Distance bush 11x8x6, 2 pcs.
10658 Distance disk 11x8x1, 2 pcs.

Alloy rear axle
carrier left Alloy rear axle

carrier right

Alloy differential
bearing left

Alloy cross bracing
rear, 1 pce.

Ball bearing
10x19x7

Ball bearing
8x16x6

Gearwheel
15 teeth

Gearwheel
48 teeth

Alloy engine
flange F1 new

Alloy differential
bearing right

Plastic gear-
wheel 42t.

Countersunk screw
M4x16

Pan-head screw
M5x14
5mm washer

The differential gear is not
included in the delivery.

Pan-head screw
M5x14

Alloy gear
flange

Gearshaft f.
gearwheel drive

Shim rings
10x16x1

Pan-head screw
M6x10

Headless pin
M5x5

Headless pin
M5x6

Headless pin
M5x6

Pan-head screw
M5x14

Headless pin
M4x10

Pan-head screw
M5x14

Pan-head screw
M5x14
5mm washer

Pan-head screw
M5x14
5mm washer

Pan-head screw
M6x14
6mm washer

Countersunk screw
M4x14

Countersunk screw
M4x14

Alloy engine
mount

Alloy gear carrier
52 mm

Engine 
fixing disks

Alloy bea-
ring bush

Distance bush
13x10x35

Bearing shaft f.
gearwheel 38t.

Gearwheel
38 teeth

Distance disk
11x8x1

Distance bush
11x8x6

Steel gearwheel
22t. hardened


